P Shodeck  Rath Problem
Topuk () Directrd aﬂfh G = C\//L—'-Z>
VB‘EE ) G (Cezo i stloned)
P i
Wd—t ¥ s eV , oukpud a dorfict g-E palh
Aewptd:  Run Dijkebac
\ shedfedd -t F»\:O\ L SWtE

g e |
A /! bat Dijkstel preks: st

(V]
Atlermpt—2-: Add come A>p 1o all wlge coets
— et (e = GtA ZD

Dreunt wek @ oo T/F #HF a F“\"Z’z‘” (A/%ﬁi aA:_?wo«%)

Trsnor: There & o Rinoar greety e Dinded lorguos algo

%{W ?wfoﬁem

WW We tody e aboud R0 ek g o ket
N ?aﬁ\

Gﬁ/@Q’_ VDQS%{\ a % O%M"%i\t Th’\?@)ﬂ’m

Alert DPTCS) = (b @ dhwled $-E path eV
T 7 0PT(S) + Sel =

(01) Ko mony  gabpeblems 7 OPT(S) FSEE 20y,

) Re cunoive J(nm[cg s ,fL’L’) |
: ; % »9 Shokest  s--b prth VS (&,0) ath

sptbet need

%\"\} QQCJ( o
L8 e - .
&mﬁi’ - 0P T(8) = (g + OFT()



NMpre W&g ;

: ob1 C‘;} - A {C .. A Lo)\*/
' T §)LQJ L ) A
VQM \/’ CGE =

Q@)D T‘OIVQ M&mwﬁdf mfm“”“% Cékb)’f}ﬁb/@mg

L
03T ) - Gg L@/JrDPT (w)

OPT(0) = Mum i& M% 0PTLE), M’WPT@%

ﬂﬂﬁm@nﬁ (3\9@%\,&& 19/(,\) LL&S) ) X %Q
Sluben:  Tobradduge an ¢ M artfre e fhe 5
¢ 0o~ PWH Qw% Faﬂt & mm%(ﬂ’m ”&(r“

Dbt pronctee fap ok 3 Joo N\ gy b e b

A‘Fﬁ“‘?{‘ﬁ{l So vide ,jf@m (kA ﬁzj@“{\: C/J\v@ 4 coredt p‘lj rodlC

AT JDW‘T

| NSX UW&Q
Aflewmpbs™ @@m L : 3: i\;vrea Lomjg
@PTC 9) L) < COQ”% 'ﬂé *ﬁ@gﬁmﬁt& < ~~E Pmt@: Léb@\

OL’EQ/?‘“" ﬁ L u&ﬁsﬁ

i B
jﬂr_/t :t% \g T ’_@ m\mﬁ’m\s Smu Tl

& u\cQQ 2



§udp- prblorns ” T ( 1) i 9éfj ‘
DLl &R

Geal 0= CQ/ '\”\l (et T chofiet 0~ RAT

b - A L . (N ik
sseN N

D) Frow moey  oub l ¢ n.n=n~
(%) - Qub prold ame A T

i 0?T(A,0) =a0 [d+]
: L OPT ( A, D= 4 Ayt ]
% F 0PT(R)2)= 6-%  Layayt])
5% 5 - | By )
~ O‘P\ (‘4}5) = 3 E({)ﬂ)’{'j

‘O‘PT[(J{) 4 ) ‘lp%.;)/j Cd,a,b e ]

‘?’ ‘ - ' ) =
WAﬁgCC&T) -3 T Cdayn e ol]
g = D
T4y €) = eptla, 1) - - =0



